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UNIVERSITY OF NORTH BENGAL 
B.A. Honours 2nd Semester Examination, 2021  

CC4-PHILOSOPHY 

ETHICS 

Time Allotted: 3 Hours Full Marks: 60 

ASSIGNMENT 

The questions are of equal value. 
The figures in the margin indicate full marks. 

 Prepare Assignments on any three of the following within 800 words each 20×3 = 60 

1. Define ethics. Explain the nature and scope of ethics. 6+14 = 20 

   

2. Define moral and non-moral actions. Describe the different types of Non-moral 
actions. Write in brief different stages of Voluntary action. 

2+12+6 = 20 

   

3. Explain freedom of the will as a postulate of Morality. 20 

   

4. Describe Bentham’s Utilitarianism. ‘Mill’s Utilitarianism is refinement of 

Bentham’s Utilitarianism’ — Explain. 
8+12 = 20 

   

5. Define Punishment. Explain any two theories of punishment.  4+16 = 20 

   

6. Write a note on Kant’s concept of Categorical Imperative.  20 

 
——×—— 
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UNIVERSITY OF NORTH BENGAL 

B.A. Programme 2nd Semester Examination, 2021  

DSC2-PHILOSOPHY 

 WESTERN LOGIC 
Time Allotted: 3 Hours Full Marks: 60 

ASSIGNMENT 

The questions are of equal value. 
The figures in the margin indicate full marks. 

 Prepare Assignments on any three of the following within 800 words each 20×3 = 60

 িনmিলিখত িবষয়gিল �থেক �য-�কান িতনিট-র উপর ৮০০ শেbর মেধয্ অয্াসাইনেমn 
�তরী কর 

1. (a) Classify propositions according to quality, quantity and quality and quantity 
taken together. Give examples of each. 

10

 gণ, পিরমাণ এবং gণ ও পিরমােণর েযৗথ pেয়ােগ বচেনর েËণীিবভাগ কের েদখাও ও pিতিটর 
উদাহরণ েলখ। 

(b) Explain ‘distribution of terms’ and show which terms are distributed in A, E, 
I, O propositions with example. 

10

 ‘পেদর বয্াপয্তা’ বলেত িক েবাঝ ? A, E, I ও O বচেনর েকান েকান পদ বয্াপয্ েদখাও। 

  
2. (a) Distinguish between mediate and immediate inference with examples. 6

 উদাহরণসহ মাধয্ম ও অমাধয্ম অনুমােনর মেধয্ পাথ�কয্ েদখাও। 

(b) Explain different rules of Conversion with examples. 8

 আবত�েনর িবিভn িনয়মgিল উদাহরণসহ আেলাচনা কর। 

(c) Distinguish between simple conversion and conversion by limitation with 
examples. 

6

 সরল ও সীমািয়ত আবত�েনর মেধয্ উদাহরণসহ পাথ�কয্gিল উেlখ কর। 

  

3. (a) Use truth tables to determine the following statement forms as tautology, self-
contradictory or contingent: 

5+5 = 10

 সতয্সারণীর সাহােযয্ িনmিলিখত বচনাকারgিলর sতঃসতয্তা, sতঃিমথয্াt ও অিনিদ�Ŷমানতা 
িনণ�য় করঃ 

 (i) q)p(~q)~p(  

(ii) )qp()q~p(  



UG/CBCS/B.A./Programme/2nd Sem./Philosophy/PHIDSC2/2021 

2076 2

(b) Use truth tables to determine the validity of the following arguments: 5+5 = 10

 সতয্সারণীর সাহােযয্ িনmিলিখত যুিkgিলর �বধতা িবচার করঃ 

 (i) No Republicans are Democrats, so some Democrats are wealthy men, 
since some wealthy men are not Republicans 

 েকােনা pজাতািntক নয় গণতািntক। সুতরাং কতক গণতািntক হন ধনী, েকননা কিতপয়  
ধনী বয্িk নন pজাতািntক। 

 (ii) )(~)( qpqp  

 /)( qp  )~( qp  

  

4. Explain traditional square of opposition of proposition with examples.  20

 বচেনর িবেরািধতার সাধারণ চtেŴাণ উদাহরণসহ আেলাচনা কর। 

  

5. (a) Transform the following arguments into standard form and test their validity 
by means of Venn diagram: 

5+5 = 10

 িনmিলিখত যুিkgিলেক তক�িবjানসmতrেপ সািজেয় েভনিচেtর সাহােযয্ �বধতা িবচার করঃ 

 (i) Some children are not considerate, since all children are egoist and no 
egoist are considerate. 

  কতক িশǖ নয় িবেবচক, েকননা সকল িশǖ হয় অহংকারী এবং েকােনা অহংকারী বয্িk 
 িবেবচক নয়। 

 (ii) EAO-2nd figure 

  EAO-িdতীয় সংsান 

(b) Transform the following into standard form and prove the validity by means 
of syllogistic rule: 

5+5 = 10

 নয্ােয়র িনয়ম অনুসরেণ িনmিলিখত যিুkgিলর �বধতা িবচার করঃ 

 (i) AEE-4th figure 

  AEE-চtথ� সংsান 

 (ii) OAO-1st figure 

  OAO-pথম সংsান 
  

6. Define analogical argument. Describe the different criteria for the appraisal of 
analogical argument. 

5+15 = 20

 উপমা যুিkর সংjা েলখ। উপমা যুিk মূলয্ায়েনর িবিভn পিরমাপকgিল আেলাচনা কর। 

 ——×—— 
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UNIVERSITY OF NORTH BENGAL 
B.A. Honours 2nd Semester Examination, 2021  

GE2-PHILOSOPHY 

WESTERN LOGIC 
Time Allotted: 3 Hours Full Marks: 60 

ASSIGNMENT 

The questions are of equal value. 
The figures in the margin indicate full marks. 

 Prepare Assignment on any three of the following within 800 words each 20×3=60 

1. (a) Identify the subject and predicate terms and name the form of each of the 
following propositions: 

(i) All men are not dishonest. 

(ii) Exploiters can never be socialists. 

(iii) Only the members are voters. 

(iv) Fifty percent of the students have passed in mathematics. 

2 2
1 ×4 = 10 

(b) Name the quality and quantity of each of the following propositions, and state 
whether their subject and predicate terms are distributed or undistributed: 

(i) No cowards are soldiers. 

(ii) Some students are patriots. 

(iii) All poets are imaginative persons. 

(iv) Some persons are not good. 

2 2
1 ×4 = 10 

   

2. (a) Describe mediate and immediate inference with examples. 6 

(b) Explain different rules of obversion with example. 8 

(c) Explain the problem of conversion of ‘O’ proposition. 6 

   

3.  (a) Define tautology, self-contradictory and contingent statement form with 
examples. 

10 

(b) Use truth tables to determine the validity of the following arguments: 

(i) Some scholars are poets, all poets are educated, so some educated men are 
scholars. 

5+5 = 10 
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(ii) )(~)( qpqp   

 /)(~~ qp ∴ )(~ qp   

   

4. Define ‘opposition of proposition’. Explain Square of Opposition with 

examples. Point out the modern reformation of it. 
20 

   

5.  (a) Transform the following arguments into standard form and prove the validity 
by means of syllogistic rule: 

5+5 = 10 

 (i) Some reformers are fanatics, so some idealists are fanatics, since all 
 reformers are idealists.  

 

 (ii) The old people are weak. The boy is weak. Therefore, the boy is old.   

(b) Transform the following arguments into standard form and prove the validity 
by means of Venn diagram:  

(i) OAO-2nd figure 

(ii) EAE-1st figure 

5+5 = 10 

   

6. Explain with examples the different meanings of the word ‘analogy’. Explain 

the appraisal of Analogical Argument. 
4+16 = 20 

 ——×——  

 


